MERCRUISER [454 MAG MPI BRAVD [GEN 1)

G 45443 1938)

Serial Mbr Range: OLO10023 THRU OLO55333 [USA)

/ ;‘ b Ti"
W
13 Sy

< THERMOSTAT HOUSIMG & HOSES b w
Ref |Clazs|Part Description Qt Comment Footnote
2 22 32803 PLUG-PIPE [3/81M ) 2
3 27 806871 GASKET-THERMOSTAT 1 3.4
4 27 53045 1|GASKET-THERMOSTAT HOUSIM |1 34
5 072527 2| THERMOSTAT 1
A 23 A06522| SLEEWE 1
7 10 BE1429| SCREW [3/8-16 X 2 IM.) 2
a2 32 207407 |HOSE-THERMOSTAT HOUSING. |1
9 32 207983 /HOSE-COOLER TO COOLER 1 [454]
3 32 a07406 1|HOSE-COOLER TO COOLER 1 [502]
10 32 B08045|HOSE-FUEL COOLER TO POWEF|1
11 32 A08044|HOSE 1 POWER STEERIMNG OIL COOLEF
12 32 17435 79|HOSE-SEA WATER PUMP TO TR|1
13 54 815504222 | CLAMP 10
14 32 83718 1|/HOSE-THERMOSTAT HOUSIMNG "1
15 54 815504232 | CLAMP 2
16 32 89749 1|HOSE-THERMOSTAT HOUSING "1
17 32 BE1318|HOSE 1 THERMOSTAT HOUSING TOST
18 54 815504220| CLAMP !
19 2055464 2| BRACKET-TRAMNSMISSION OIL Cif 1
20 Tr223 3| PAD 1
21 54 815504232 | CLAMP 1
22 10 34353 |SCREW [3/8-16 % 11M.] 1
23 13 35048 | LOCKWASHER [3/8 IM.) 1
24 2615547 | COOLER-POWER STEERIMG OIL |1
25 54 47715|CLIP 1
26 10 357ERA 1| SCREW & LOCK\WASHER (5/16-1 (1
MS 19 207992 3|COVER-HOSE CLAMP END AR
- 27 211572494 | GASKET SET-OWERHALIL 1 [454]
27 B05396432 | GASKET SET-0VERHALIL 1 [502]




